R B[40, IR 50. ks 51. BELRH

% | IBfL |42 NEHL |4 NEHL |45
=ik 1 41 1 26 1 18
EFmH 14 7 9 5 10 1
7= 6 12 4 6 5 2
mEm 5 14 5 6 2 4
TEST 8 10 13 3 6 2
G 11 8 6 6 3 3
BEH 10 9 7 6 7 2
TiEFKT 7 11 10 5 11 1
mA+H 2 26 2 14 4 3
Emm 12 8 11 4 12 1
it 13 8 12 4 13 1
RFET 20 2 16 2
4T BT 21 2 22 1
A E7HT 24 1 23 1 14 1
% HAET 25 1 24 1
PIANES) 26 1 25 1
B+ 22 2 17 2
=fs 27 1 26 1
ALET 23 2 27 1 15 1
REH 28 1 28 1
T {EHT 29 1 29 1
KINFE 30 1 30 1
LNODHET 3 16 3 7 8 2
=5 BT 17 3 18 2
th + {ZHT 15 5 14 3
1% )11 BT 16 4 15 3 16 1
&N AT 31 1 31 1
ERET 32 1 32 1 17 1
BHE# 18 3 19 2
FEETET 19 3 20 2
Y 75 +HT 4 16 8 6 9 2
KHEHET 33 1 33 1
=FEH 34 1 34 1
£ RET 9 10 21 2 18 1
SRE 233 129 47
FR ER30ES5A1H ER30ES5H1H ER30ES5H1H
=g ERERHFE ERERHFE ERERHFE
HFT Bt oiriR Bt oiriR Bt oiriR
e EBRBEEREEL [BEBBEERZED
i3]

52.

5

&t
i
e

1N

40km




=
ErRE (52 MPREEH |53 MPREEM |54 hEEEREH

EANECAPN [FRAPNGEET DD NTCAPN
= 1 16,670 1 407 1 9,461
E=hisl 14 410 22 59 15 191
7= 10 730 21 61 9 420
mEm 2 2,350 6 168 2 1,079
TEST 5 1,213 11 121 7 467
G 9 878 12 110 5 549
BEH 7 977 13 109 8 437
TiEFKT 13 450 30 41 13 241
mA+H 4 1,599 20 62 3 886
Emm 3 1,761 2 220 4 739
it 6 1,114 8 139 6 476
RFET 29 65 32 33 30 23
4T BT 26 110 24 55 26 59
H E7ET 27 94 14 94 27 43
% HAET 30 65 19 65 31 22
Jei4t 31 49 27 49 32 22
B+ 33 42 33 21 33 16
=fs 20 171 4 171 21 85
ALET 25 134 18 67 25 60
REH 28 76 17 76 28 28
T {EmT 23 153 7 153 22 70
KINFE 34 11 34 11 34 14
LNODHET 8 911 23 57 10 407
=5 BT 22 156 25 52 23 70
th + {ZHT 17 248 26 50 17 127
&)1 BT 12 552 9 138 12 286
&N AT 19 210 3 210 20 97
ERET 24 136 10 136 24 70
B 18 242 16 81 18 127
FRERET 16 262 15 87 16 133
Y 75 +HT 11 673 29 42 11 379
KA HE 21 170 5 170 19 107
=FEH 32 45 28 45 29 27
¥l 15 400 31 40 14 214
SRE 33,127 142 17,432
F2 ER30ES5A1H ER30ES5H1H ER30ES5H1H
=g ERERHFE ERERHFE ERERHFE
HFT Bt oiriR BIRET D HTER BIRET D HTER

FRATEMICLDEST [FRFTERICKDEST |FRATEIZKSE
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ks (55 PEREGER |56 BEPREGEM |3 o AT
CANECAPNGEE T DN N FAPN BT [%

=ik 1 364 1 11,718 2 58.1

E=hol 26 38 11 141 11 22.2

7= 13 70 8 385 4 448

mEm 3 180 2 1,929 7 30.7

Tk 4 156 9 281 14 17.3

AT 10 92 3 1,336 1 59.3

BEH 12 73 5 632 13 19.3

TiEFKT 23 48 10 142 10 26.9

mA+H 18 63 4 910 3 56.5

Emm 2 185 15 111 18 9.5

it 5 119 6 429 8 30.7

RFET 33 12

4T BT 21 59

H E7ET 24 43 17 72 15 15.8

% HAET 30 22

Jei4t 31 22

B+ 34 8

=fs 11 85

ALET 20 60 18 67 5 44.0

REH 28 28

T {EmT 14 70

KINFF 32 14

LNODHET 22 58 7 421 17 11.3

=) BT 27 35

th + {ZHT 25 42

1% )11 BT 9 95 13 137 9 28.3

&N AT 8 97

ERET 15 70 14 115 6 426

B 17 64

FEETET 16 67

/a5 +Hr 19 63 12 140 12 21.6

KHEHET 6 107

=R+t 29 27

¥l 7 107 16 94 16 15.4

SRE 135 19,060 49.3
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HETH & 1= 58. NEEEH 59. REEH 60. AEEEH
% | IBfL |£E Bz [EE Bz [EE

=ik 1 41 1 7 10 3
E=hisl 12 3 9 1 17 1
7= 2 19 10 1 5 5
mEm 3 14 11 1 6 5
TEST 18 1 2 3 18 1
G 7 7 12 1 7 4
BEH 10 6 13 1 11 3
TiEFKT 19 1 14 1 19 1
mA+H 8 7 4 2 13 2
Emm 4 13 5 2 12 3
it 5 13 3 3 3 6
RFET 15 2 15 1 20 1
4T BT
A E7HT 16 1 21 1
% HAET 20 1
PIANES)
B+
=fs 17 1 22 1
ALET 16 2 23 1
REH 6 13
T {EmT 18 1 2 8
KINFF 24 1
LNODHET 9 7 19 1 14 2
=) BT 17 2 15 2
th + {ZHT 21 1 8 4
1% )11 BT 22 1 20 1 16 2
&N AT 11 6 21 1 25 1
ERET 22 1 4 6
BHE# 13 3 23 1
FEETET 6 2 9 4
P8 5+ 7 2 1 9
KHEHET 14 3
=R+t 23 1
¥l 8 2
SRE 167 38 77
ER TERR29FEE ERR29EE ERR29EE
=g HETATHBROIKR  [HETFRTIHBROKRE | TERTHEROKR
HFT B ETA IR LR B iTET A IR LR B iTET A IR LR
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